- NOTICE - REVISION HISTORY
THIS DOCUMENT CONTAINS PROPRIETARY INFORMATION OF DANFOSS DRIVES. [T IS REV ECN NUMBER ENTRY BY DATE
LOANED BY DANFOSS DRIVES SUBJECT TO THE CONDITIONS THAT [T AND THE
INFORMATION EMBODIED THEREIN SHALL BE USED ONLY FOR RECORD AND REFERENCE
PURPOSES, SHALL NOT BE USED OR CAUSED TO BE USED IN ANY WAY PREJUDICIAL TO 001 INTTTAL RELEASE DK 12/28/1¢
THE INTERESTS OF DANFOSS DRIVES, SHALL NOT BE REPRODUCED OR COPIED IN WHOLE
OR IN PART OR DISCLOSED TO ANYONE WITHOUT THE DIRECT WRITTEN PERMISSION OF 002 ECNSP 13077 JMH 04/10/2013
DANFOSS DRIVES, AND SHALL BE RETURNED UPON REQUEST.

52 .55 —= G e H — =
[2.46]
4170
= D = ‘ 0 ?‘52] —= 1197]
= 380.0 98] ‘ 152.00 —=— —= = SEE DETAIL B
(15 0] ' [5.98]
o o O o o} o ﬁi —
= = ¥
o]
=
O
“‘q‘:P; O o]
0 ° )
C O o} B A
( | ]
(o]
o o
O o} | o = = [
\
= 0 /\
o Py T N ﬁ o ﬂ
“
304,00 —e
[11.97]
SEE DETAIL A
USE MIO MTG BOLTS OR C S
—=] 58 00 |=—r 3/8" MTG BOLTS
[2.28]
— e = 4% 11 00 7 D100 Jy
USE MI0 MTG BOLTS OR— [ 43] L. 43 1 TIER 2 DIMENSIONS
3/8" MTG BOLTS 5 N \}9 ) - : S - - : ; | "
% Y1 FRAME 1154 0 12099 11637 154 .| 426 0 200 .0 383.5 285 .0 2325 52.5
$ . 25.00 (45 4] (47 .6] [45.8] (29 . 7] [16.8] [7.9] (15 1] [1].2] (9.2] (2.1
H L. 98] o frane 15345 1588 .2 1547 .8 850 .6 438 .0 271.0 386 .5 3740 327.0 47.0
$ ¢ yARN (60 4] [62.53] [60. 7] [33.5] [17.2] [10.67] [15.2] [14.7] [12.9] [1.9]
ﬁ:
20.00 922
[ 791 [ 36] OETAIL B D-FRAME MAX WEITGHTS
DETAIL A TOP MOUNTING HOLES TIER 2
LOWER MOUNTING HOLES SCALE  0.500 120 1bs
SCALE  0.500 DIVERAME 1 g0 g
D2 FRAME [%%% kb%
NOTES : J
UNLESS OTHERWISE SPECIFIED PROPERTIES
| THIS ENCLOSURE CONFIGURATION S USED INTERPRET DIM_AND TOL.PER | MATERIAL
FOR ALL OPTION COMBINATIONS EXCEPT BYPASS ASME Y14.5M-1994 f:;ZZQEQZfEﬁi
WITH DV/DT FILTER OR LINE REACTOR OR CONTACT MOTOR 0 4 W0 20 405 | FINISH
SELECT OR DUAL MOTOR. DIM.ARE IN MILLIMETERS THICKNESS 4401 N. BELL SCHOOL RD. LOVES PARK, ILLINOIS 61111 USA
WEIGHTS ARE IN KILOGRAMS EST WEIGHT | SEE NOTE 3
> AT MINIMUM THE TWO OUTSIDE LIFTING POINTS THIRD ANGLE PROJECTION | APPROVALS |  INITIALS DATE o
ARE REQU\RED WHEN HANDL\NG TH\S UN\T DRAWN WH 08729/ 17 INSTALLATION DRAWING, P650, DI D2 TIER 2 / TIER 3
OLC] [ ST TR
ENGR 0.200 ' | T4AN8666 | OF 3




62.55 = = G == e
[2.5]
421 .50 == 304 00 —e - ] —=
_ |
= D = 41703 [16.6] [12.0]
[16.4]
- 30400 —=
4. 55 —e= [12.0]
= 380.0 ———= [ 2] SEE DETAIL D
[15.0] 152,00 f=— —= 15200 |=— —= = K L
25 00 — [6.0] [(6.0]
[1.0] |
(o) (o) (o) (o) 7 D (0] (0] (0] (0] [0 Jﬂaqa | q; o
®
= =
° O O
\ \
® C B A
) )
o o
\ \ oe Bo
(o] O.
| S —
=
o = =
.I — ® 1
o
EH_
SEE DETAIL C —1 -

[2.28]

USE MIO MTG BOLTS OR
3/8" MTG BOLTS

USE MIO MTG BOLTS OR— 2 QS[AQ?
3/8" MTG BOLTS '
TIER 3 DIMENSIONS
% B A A C D r r G X ] y
N 11540 12099 163,17 1756 8475 200. 0 805 .0 285 0 2325 52 5
(45 4] (47 .6] (45 8] (46 3] 133 4] (7.9] 13177 112 [9.7] (2.1
b R~ 15345 15887 15478 1270, 859 5 271 .0 808 0 3740 327 .0 470
50 00 (60 4] [62.53] (60 7] (50 1] [33.8] [10.67] (3].8] 1477 [12.9] [1.9]
[ 79]  U-ce DETAIL C
- [ 36] DETAIL D
SCALE  0.500 cealt o 500
D-FRAME MAX WEIGHTS
TIER 3
585 |bs
NOTES DI FRAME (265 kg
| THIS ENCLOSURE CONFIGURATION IS USED 0> FRAME [iég kb§
FOR ALL OPTION COMBINATIONS CONTAINING BYPASS 9
WITH DV/DT FILTER OR LINE REACTOR OR CONTACT MOTOR
SELECT OR DUAL MOTOR.
2‘ AT M‘N‘MUM THE TWO OUTS‘DE L‘FT‘NG PO‘NTS INSTALLATION DRAWING, P650, DI D2 TIER 2 / TIER 3
ARE REQUIRED WHEN HANDLING THIS UNIT. . - m
SCALED DRAWING NO P650737ASSY SHEET 002
0.200 . | TANB666 2 OF 3




SERTES
460V -C 30/ FC 102/207 - RAME
5000 (HO/NO) [4000/6000/8000 AIR FLOW SPACING REQUIREMENTS
HP 1205/ 150 | 50 D | CEILING
AW 90/ 110 ] 0 D | ﬂ&
HP 150/200 200 D | e OUTLET Sog ¢
[900] AR OUTLET
i 10/ 137 | 37 D | p} K}
H P 200/250 250 D7 ‘ RL /}
o Q. ,
AW 1 32/160 160 D7 . ] ; E Q. T - . ° °c . ° . °
H P 250/ 300 300 D/ o , AR OUTLET ] AR OUTLET ®
AW 160/200 200 D7 \,w \/w
H P 300/ 350 350 D7 ;
} L — N
AW 200/250 250 D7 | ) :
I ' © CED
SERTES i C @ (¥
000V -C 30/ FC 102/207 FRAME ' Il ®
5000 (HO/NO) [4000/6000/8000 I ’I @
H P 125/ 150 |50 D |
AW 90/ 110 ] 0 D | | | .
HP 150/200 200 D | <J AR INLET -
W 10/ 137 | 37 D | <j <<JJ
H P 200/250 250 D7
AW 132/ 160 160 D7 o |
HP 250/300 300 D? - 07
W 160/200 200 D7 ° ! @@ ) *! o o
H P 300/ 350 350 D7 . . </ AR INLET ’ <J -
AW 200/250 250 D7 I e © I <J 2
HP 350/400 400 b2 e, . , ; 0 .I:f - N=: —
AW 250/ 315 319 D7 - % - 2 3 =
£28.6 @W@ O 0oDoDooooooooooDnooooooooooooooooo O | O CooooooDDOOOOOOO000DD0000000000000 O
AL [9.00] AR INLET Shoooooooanioooooas | S3aRnooccoconnooooccooonoinnss | ERSoo0meeNaannnoooononannnononD
a0 </ . e
%V ﬂ] ° o o © D0oooEaAA00NNoNa s @ | © oo o
0 o FLOOR
71504 380.0 @ ———= = = [452]
ffggm (29 54] fgj-gm [14.96] . =t
207 = =—289.8 —= | SEE DETAIL £ L-98] Q] Xg i
[ 8] (1] 4]
PEDESTAL KIT - REQUIRED ASSEMBLIES — i Al | AN T
sonestal | 0T | Uedpgsrar | ort | Phsshely | o1 = |l " -
DI TIER2 (NEMA 1) | 176F3452 | | T6F 1827 | | 74N8T 24 | A ﬂ‘B
DI TIER2 (NEMA 12) | 176F3452 | 1 76F 1827 | | TANS6T4 | T DWQEME
DI TIER3 (NEMA 1) | 176F3452 | | T6F 1827 2 | 74N8T 24 | 535 | | 546 0 SCALE 0 400
DI TIER3 (NEMA 12) | [76F3452 | | T6F 1827 2 | 74NS6 T4 | 3133 [9.25] | | [9.69] 315 2
D2 TIER2 (NEMA 1) | 176F3539 | | T6F 1827 | | T4N8T29 | [12.33] RL J [12.41]
D2 TIER2 (NEMA 12) | 176F3539 | 1 T6F 1827 | [ T4N8TIT | [ — ° A Ao A ° A Ao KL
D2 TIER3 (NEMA 1) | 176F3539 | | T6F 1827 0 | T4N8T29 | L Ml A w)& Lo AN Pes0 1 s Tin ) Tien s
D2 TIER3 (NEMA 12) | [76F3539 | | T6F 1827 2 [ TANSTIT | e PGS’OMS’SY ——

3 ! 0 d 4 3 e




	Sheet 1
	Views
	VIEW_TEMPLATE_1
	VIEW_TEMPLATE_3
	right_4
	A
	B

	Zones
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1


	Sheet 2
	Views
	new_view_14
	right_15
	right_16
	C
	D

	Zones
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1


	Sheet 3
	Views
	new_view_20
	new_view_21
	right_22
	bottom_23
	E

	Zones
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1



